Tep Tlep Tep Thad Thad Thad
ee/pp \ ep
loose loose loose loose loose loose
Ne///‘ - 2’ N"'had—vis =0 Ne/ﬂ =1, NThad-vis =1 Ne/” - 07 N7had-vis =2

e/u : Medium, gradient iso.

Opposite charge
m< > my — 25GeV
30 <my, <75GeV | 30 < my < 100 GeV
B > 55 GeV ER > 20 GeV
E‘?iss7 hard > 55 GeV
AR,.. <20
|An.,| < 1.5
0l1<z <1.0
0.1 <zy<1.0
pit > 40 GeV
Nb—jets =0

e/u : Medium, gradient iso.
Thad-vis: Medium
Opposite charge

mp < 70 GeV

EZ55 5 20 GeV

AR, <25

|An..| < 1.5
0l<z <14
0.1 <z <12
p > 40GeV

Nb-jets =0

Thad-vis: 1ight
Opposite charge

EXSS 5 20 GeV

08 < AR,, < 2.5
|An..| < 1.5
0.l1<z <14
0.1 <y <14
prt > T70GeV,[n; | < 3.2




